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01 REHLELE 19 15 4 26. 7%
02 il T35 -
03 AR Dfth DOk 1 1 -
04 AR - AREL 1 -1 —100. 0%
05 ZZH - i 1 1 -
06 /N 7% -
07  Fiml - K -
08 AbF T3 1 1 -
09 ZExbf 1 1
10 REH=E 2 (1) 2 (1) -
11 FEk&eE -
12 4 JEadih 6 4 2 50. 0%
13 —fixitlas B 2 4 -2 -50. 0%
14 B 1 -1 —100. 0%
15 Wi 15 9 6 66. 7%
16 &wEX - A -
17 FoOfhofig 7 9 -2 —22. 2%
01 MIE3E/ N3 55 (1) 44 11 (1) 25. 0%
02 FLFE/NGT -
01 +ART=H 11 12 -1 -8. 3%
01 #F - BmxE=E 7 (1) 3 4 (1) 133. 3%
02 AREFZEEL 5 5
03 ZZLEln L3 )
09 FOfDEEE T 5 7 11 -4 -36. 4%
02 HEETH 19 (1) 19 (1)
03 F DO DR 7 17 -10 -58. 8%
03 G/ 37 (1) 48 -11 (1) -22. 9%
01 #hE%E 3 2 1 50. 0%
02 JEEIRE 21 27 -6 -22. 2%
03 EEYEE 38 41 -3 —7. 3%
04 F OO EHHASH® 2 -2 —100. 0%
04 iEfRALE /NG 62 792 -10 -13. 9%
01 [ L&Y 9 5 4 80. 0%
02 PRI EEZE 16 13 (1) 3 —(1) 23. 1%
05 BB/ NG 25 18 (1) 7 -(1) 38. 9%
01 fH3 2 2 -
02 ME 1 1 -
06 EARSE/NGL 3 3 -
01 HE¥ -
02 /KpEZE -
07  F57PE - KPEZE/NNET -
01 583 11 8 3 37. 5%
02 /INFE3E 46 (1) 36 10 (1) 27. 8%
03 HERZE 1 1 -
04 ZF DM OPHEZE 5 (1) 6 -1 (1) ~16. 7%
08 P 63 (2) 50 13 (2) 26. 0%
01 4mphzE 3 6 -3 -50. 0%
02 i - HoHA -
09 4Bl L 3 6 -3 -50. 0%
10 W - B -
11 BE3E 9 6 3 50. 0%
12 ZEWZE 6 —6 -100. 0%
01 [EFEREEZSE 6 3 3 100. 0%
02 fEEtEAkhEER 23 35 -12 —34. 3%
03 DR 2 1 1 100. 0%
13 PREEAEZE 31 39 -8 -20. 5%
01 JirfiE¥ 3 2 1 50. 0%
02 fRE)E 22 20 2 10. 0%
03 FOoER 4 2 2 100. 0%
14 BERH 29 24 5 20. 8%
15 Ff: &5 25 27 —2 ~7. 4%
16 'BERNE -
01 JRiEZ 1 -1 -100. 0%
02 FOo=FE 22 16 6 37. 5%
17 FOfhpHIE 22 17 5 29. 4%
a it 364 (4) 357 (1) 7 (3) 2. 0%
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